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Setld : 47174_98 14Aug18_Batch4 D El |
Section 1 - Paperl-General English

1) Choose the correct answer:
The judge was towards the prisoner and
reduced the punishment.

merciful
harsh

s Techofworld.ln

A
B
C
D

2) Choose the right option to fill the blank:
She decided to a letter.

A) wright
B) right
C) write
D) rite

3) Choose the correct answer:
We want to buy a car. We are looking a good deal.

A) upon
B) with
C) for
D) away

4) Choose the correct answer;
The little boy stood at the and prayed.

) alter

) alteration
) alternate
)

A
B
C
D) altar

5) Choose the synonym of the given word:
animosity

punish

lure

A)
B)
C) adore
D) hate
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Section 2 - Paperl-Education and General Awareness

6) Which among the following is an autonomous
organisation in pursuance of National Policy on Education
1986 providing a number of vocational, community oriented
courses besides General and Academic Courses at
Secondary and Senior Secondary level?

A) The National Institute of Distance Education

)

) The National Institute of Open Schooling
) The Central Institute of Open Schooling
)

B
C
D) Indira Gandhi National Open University

6) 996Q QIFIA F1E 1986 @ AGAREER FIRYES FRIQ 67
GAeaITe QAT ARIFR Q° O QRIS R6Q ARIGE €Q°
121666 691d QU616 26aa URIFRR, A°gRIS 6@ AI0IgAgER
4919 @& |

A) QTR EEQIS AT GRIQ 9gERAR
B) QUIASIR QedQue 2t Baq Am°

C) 6Q49/m RAVQIQ 2T BA] Ym°

D) Q09I QIf QIP1A 8 FEFMIRA

7) The representatives of each State in the Rajya Sabha
are elected by the elected members of the

A) Legislative Assembly of that State
B) Legislative Council of that State
C) Lok Sabha

D) Citizens of that State

7) QISIARER F6SIR IR GO 689 FAICe AeAYe IRl
G910 24

A
B
C
D

69F QUFYR FIFAR
6QF QIFYR Gullge 9889
sRIGA

69% QURIR PSR

— e

8) Which of the following drugs is used to treat infections?

) Analgesics

) Antibiotics

) Tranquilizers
) Aspartame

A
B
C
D

8) °GAEIQ 9aal AR FARYS 696 GTT Q4e9e 297

A) AQR6adR
B) 24960I5g
C) SIgMaEeR
D) 99IQg17

9) Which of the following soaps are made by dissolving the
soap in ethanol and then evaporating the excess solvent?

) Transparent soaps
) Medicated soaps

) Shaving soaps

)

A
B
]
D) Toilet soaps

9) SRR 699 AGR § R2IGR 62 F8IR 1 G U6Q ASRIR
QIR SITIRAE 94 9IS KA ?

A) 9g AR

B) Glaxig Age
C) 696’ Alge
D) ¢96RQ QIR

10) Which of the following statement is TRUE regarding the
Fundamental Rights in India?

A) Fundamental rights are absolute rights

)
) Fundamental rights are not absolute or unlimited rights
) Fundamental rights are absolute or unlimited rights

)

B
c
D) Fundamental are unlimited rights

10) QUQGER 66T1AR 2RI TANEA FIAYS FRIQ 60Q 986 0
268 ?

A) 66100 ZIFINGFR QL ZRIAIQ 26T

B) 6flae 2yRIagee gd a9 2AKIe 2RIQ 964
C) 61AR 2@IeqER OF 2Ial 2IFG 2RIA 26T
D) 6@ 2XQINGER 2AKIG 2RIRIA 26T
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11) Which of the following is NOT the examination
conducted by the Council for the Indian School Certificate
Examinations (CISCE)?

A) Indian General Certificate of Secondary Education
(IGCSE - Class X)

B) Certificate in Vocational Education (CVE - Year 12)

C) Indian School Certificate (ISC - Class XlI)

D) Indian Certificate of Secondary Education (ICSE -Class
X)

11) adaig IR AETeaq wWeFeray (@2IRMada) aiR
FlRedn 910l SIRYS 69 JQIRl IGPIRR! FAIAN SIF ?

A) R821R 69690IR ATTERF 2T 6A6RIR1 IFERAR
(UIRGTIAR — X 6g41)

B) Q69 A] 69169371R 9g6] (36 - 12 9F)

C) 28aIQ 3m AGT6RY (AIR4Qd - XII 6§4/1)

D) Q821 ATTERT AT 6262401 4gEad] (ART9AQ - X
1)

12) Which of the following Commissions recommended that
the management of elementary schools should be handed
over to of municpal councils and district boards?

A) Knowledge Commission
B) Hunter Commission

C) Sargent Commission
D) Mudaliar Commission

12) GIRYS AIQ 606 @FIAQ QUIG KA26R 64 QlRIFe
QRAINER AGQIRGI 6d1Q ISR YQ° GRI 691G 2918R FAULR
@eq ?

A) 818 @8ag

B) 9aa afiag

C) 99694 oFaq
D) gRiRgiq 9Fa]

WtsApp/Call- 8596976190

13) The Indian Education Commission (1882-83) which
was appointed to review the progress of education in India
is popularly known as:

A) Hunter Commission

B) Royal Commission

C) Ripon's Commiission

D) Macaulay's Commission

13) QING6R FAIQ AFHE AW FAS AR FYS 1A S
BIGQUS (R ¢ T 9-I M) 679 FII6Q GG ?

A) 24Q @fi9e
B) ain @daq
C) Gag «faq
D) CIw6R @FAq

14) Which of the following statements is INCORRECT with
relation to the 'New Delhi Declaration on education' which
was adopted by the BRICS nations in 20167

A) Share the best practices available in BRICS nations on
collaboration in education, research and innovation

B) Committed to the SDG4 and corresponding targets set
within ‘The 2025 Agenda for Sustainable Development’

C) Ensure Inclusive and equitable quality education and
promote life-long learning opportunities for all

D) Initiate actions to formulate country-specific targets
within the broader scope of the SDG4

14) 2016 6@ §¢ UTAF2 FIRI Y216 ‘GBI AUER GRACK
6RISAIRIAN ARER FARNYS 694 9BF O] g6w ?

A) G981, 96284 99° GEREA ATEAIT QUER §F ARATLER
QLN 699 AE0YLR AR KR

B) SDG4 g& 9ee® ¥e° 008a Srid a9l 2025 @IdigeTea
2l ARG MPY TIAR KT

C) Q&G 9e° YR ee Qdeal G99 9FEe afQl e Anae
IR AR F19% VS IAIF VIR 671ALR 629

D) SDG4 @ 982 g6dI F1RI6R QI QIG-G08 ANgEe AR
JR68d 609
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Section 3 - Paperl-Reasoning

15) Weights of three friends is 60 kg, 80 kg and 40 kg. The
average weight of all of them is (kg)

Se2E
[N RN
N O =

15) & AT 6a9 6208 60 S99, 80 RgrMe° 40 @Y | 6AC IR
dOee LR BRG 6960 (@l

16) If SPAIN is coded as RTOQZBHJMO, then FRANCE will
be coded as

A) EGQSZBMOBDDF

)

) EGQSZBMOBDDE
) EGQSZBMOCDDF
)

B
C
D) EGQSZBMOBDEF

16) 9§ SPAIN @ RTOQZBHIMO ®I6e 617 §9 Q@QUdIag,
66869 FRANCE g @98 69I¢ 9@ @aIde

A) EGQSZBMOBDDF
B) EGQSZBMOBDDE
C) EGQSZBMOCDDF
D) EGQSZBMOBDEF

17) What is the next number of the given series?
333, 337, 353,417, 7

17) geR 996Q Q1 AP AQER LHIT Q4 629 ?
333,337,353, 417, 7

18) " it rains heavily" is coded as "ch gh kh", " it rains often"
is coded as "gh sakh" &" it poured heavily" is coded as " kh
ch mh". 'mh' is the code for

heavily

-~

—

A
B
c
D

18) " it rains heavily" @ "ch gh kh" @I6%, " it rains often” q
"gh sa kh" @162 4e° " it poured heavily” § " kh ch mh" @6
6012 @9 FAUUIRE, 6669 'Mh’ 6a0IR 6RIQ 9B 62108

19) What is the next number in the given series?
217, 344,513, 730, ?
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19) gOR GII6Q g9l AHIYFRA TR LT A8l 62 ?
217,344,513, 730, ?

A) 1728
B) 1331
(%) 4951
D) 1001

20) If INKPOT is coded as HOLQNU, then COBRA will be
coded as

) DNCTZ
) DNCTB
) DNCSZ
)

A
B
C
D) DNCSB

20) 9@ INKPOT @ HOLQNU @I6Q 621 @8 @QIIRE, 696,
COBRA @ @9@ 62IQ 92 @QIde

A) DNCTZ
B) DNCTB
C) DNCSZ
D) DNCSB

Join Us-' > f
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Section 4 - Paperl-Teaching Aptitude

21) Which of the following is NOT an aim of education?

) Survival of the fittest aim of education

) Clerical aim of education

) Vocational proficiency aim of education
)

A
B
G
D) Bread and Butter aim of education

21) BIRALYS A 6995 A ABAEN G6L ?

)
)

C) d9IQ MRIFee ISI! AEY
) A6 H1ER QUG QY

22) Behaviourism was the concept given by

A) Skinner
B) Pavlov
C) Thorndike
D) Freud

22) QUILIRQIQ LQUIRSIT @4 gIe @GZem ?

23) The problem of truancy can be tackled best in which of
the following ways?

A) ignoring the child altogether
B) cutting marks in tests
C) giving some incentive in the form of reinforcement
D) punishing the child

23) @3 AgNE6R IRQ TRAS ANAUG 74
QEe Q6T AAIF 629 ?

[k 608 AUA6Q

A) dNG] a°gd I6R A66ISI /RSl

B) Qaidiea aqa /Igal

C) 98 6Tia 218 IR & 6glaIee 629!
D) Gquelis @86 @aal

24) If most of the learners in Heera's class are weak she
should

) teach at their pace with needful strategies
) stop bothering about weak students

) teach fast and complete the syllabus

)

A
B
C
D) advice them to take extra coaching

24) A3 2101w 6851960 2L SQIET AI0TERIER 97, 6669
62 94 QEQI AR ?

A) 6AFIRE QRS AQAKE LAY QAL AZC RIS F0g
B) 997 8195 66@ GeIRal a0 9ag
C) 41g 9QIg 8 AIOISA 6698 QA

)

D) 6Q9I9g 20 69I5° Ui aaIFd Gag

25) Open schools are opened for those people who

) don't like to take education seriously

) are very busy so cannot come to school

) are engaed in job or not able to come to school daily
)

A
B
C
D) belong to the elite class and cannot come to school

25) €18 SRS 6AAIE AR 6HINAIRE, 699166

A) 831 9o Q2 a8 Q1@

B) 2648 Q48 6 @ 2ITaIGEe QIF

C) 6916 QIRGEa QYQ 288 GF)l 9998 m aIdelg 999 ged
D) Qgie 65410 6 IR ATARER Q1T
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26) Meghana is attending a teacher training and faculty
development technique whereby she reviews a recording of
a teaching session, in order to get constructive feedback
from peers and/or students about what has worked and what
improvements can be made to her teaching technique. She
is involved in

A) Micro-teaching
B) Major-teaching
C) Macro-teaching
D) Minor -teaching

26) 67971 98 §I8 GIR 8 caIgYel A8 BCIE FINGASH ST
69RSR | 6UQ0IEA 69 Y9 JAIQIR 2ELEFR 6aRGg AFIM
Q88 | LI TR 64 41216 /G FISBRIE 0IQ F0RFRR A
AIRAIGES 8 6dF QA T QIAR IR FAAIGES | 69
6REEI6R A 283 ?

A) qIQeq-5G°
B) 6F8Q-56°
C) ¢Iegl-5°
D) QI9eQ-56°

27) Providing religious education in government institutions
is

A) constitutional
B) secular

C) unconstitutional
D) compulsory

27) A0RIQ1 AGVINEA 26 DI 6991 62QE

A) ArGuGe
B) ddRqeasol
C) aarduga
D) QRISKRS

28) According to the UGC, which of the following is NOT a
major issue in higher education?

A) Civilization of students

B) Financing and management
C) The assessment of institutions
D) Reorientation of programmes

28) g@d 2gaiel, FORYS FUQ 6966 A% S8l 6896a Y@ YIS
gae g6 ?

A) 8198I91F 2IPIR 8]
B) 218@ 6 QAQIRG!

C) ¢Igeaa qaies
D) QIdigra 9aaIgs

29) The theory of multiple intelligence was given by

A) Howard Gardner
B) Stenberg

C) Simon

D) Binet

29) agqst 67100 AR @ gOIe AR 2

A) 6219IE SIEAR
B) 686946l
C) ARsI]
D) QERY

30) Kothari commission is known as

A) National Education Commission
B) Higher Education Commission

C) National Educational Commission
D) Primary Education Commission

30) 6210101 9F§F 6% FIF6A ARG

A) Q1018 981 o880
B) o d9 afiee

C) SIola 49190 adas
D) gleéia §9 afige
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Section 5 - Paperll-Odia Language

31) 6RE6 QAIYS AP ?

p S99960 0Q

B) TR QG

c)
D)

QI0ea alo
QU QI

3p) 909’ 6ed ARIRQ AR ?

: ‘006 & ALIR AU ?

A SOReE

B) ecrIe

0) 8 qeQ

D) amd Qee

34) ‘2944 QAIQ 12| RAQIQ 622’ | CANHIGE 906 cou Fca8a ?

p) 29U S6884
p) 2813caaa

c) F6086Q FCa8E
D) YRIQ F6AEE

35) 2601 Qda Go1a G Q2 {FQ 694 YF QRIaN ?

A) asgi€
B) RKQY

c) Q6QI8

p) FeME

Join Us-
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37) 69 U9 QEQ 6PkId FEY QKU RINQ QEIF 01 '8 QRIKIN ?

A SO0 Jeaay
g) QS Qeaay
) 9gRIeR Qeaay
) AR F6HVY

38) ‘Q Oren YFQ @' QRN ?

2904 Qree

A)
) QQUAreR
)
D)

o)

c) O QRS

39) ‘QRed’ 496Q ‘gRY’ 29UA Eq 6QW RUALR YCAIT LAKIRE ?

A) a6
) ag
C) QR

D) 94

- 8FaKQ QUORS RUATQFe € aeIR goua ?

aQ geua

B) 719 9eua
F11 gOYa

A)

C)
o) 95 e

JoinUs-' > f
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41) ‘2R’ A96A ‘2]’ QAQAC 6QU AR QUORO ?

w >

Qecas

2882

a4) ‘afe’ aeq Saq1e ae cawl

>
D
&

O
DO D
D D ®

8088

53 ‘I26Q Q1 699’ APTQ 22 Q’°Q ?

A) SR GRS
RN AR QA

QAQuca a§l
2891 €AIQQ!

B)
C)
D)

Join Us-
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Section 6 - Paperll-Mathematics

48) The ratio of the prices of a sunglass and a watch is 12:25.
Three years later, when the price of the sunglass rises by
20% and that of watch by Rs. 458.80, the ratio of their prices
becomes 4:9. The original price of the watch is

A) Rs. 744
B) Rs. 520
C) Rs. 1550
D) Rs. 296

46) 49 ARG ¥S° AFR JRYQ 2GS 6208 12:25. 34 Qd 16R,
6K666Q6R ARGIAR MY 20% QF 62RI IQ° 6I6GERER AL MY
458 80 owlg 9F, G121Q (MugFas 2GAIe 4.9 62l | 6669 TG
gge Y 66w

A) Rs. 744
B) Rs. 520
C) Rs. 1550
D) Rs. 296

47) A quadrilateral is a parallelogram if one pair of opposite
sides are

A) equally inclined
B) only parallel
C) equal and parallel
D) equal only

47) 99 99RF 6208 99 AUFSAR 688 UG FAIG Qg 649G
o]

A) Q6I6 @6Q 998
B) 699% AFIRQIR
C) Q9@ B aAIRAIR
D) 6ae% QAlq

48) What is the value of k for which the equation
x% + 5kx + 16 = 0 has no real roots?

A) k| < 8/5
B) k> 8/5

C) k<-8/5
D) k2> 64/25

48) x2 + 5kx + 16 = 0 AF1@QE64 k @ Y 676E AIFIA & Y9
e o ?

A) |k| < 8/5

B) k> 8/5

C) k <-8/5
D) k2> 64/25

49) Which of the following is a non linear equation?

49) FRNYE AR 6REE FUF AGRE ?

A) x+3/x=4
B) 3/x+5=0
C)y+2-z=0
D) 3x-8=7

50) The LCM of 90 and 144 is

) 7
)
)
)

oowm>
_;Q)U]

50) 90 9e° 144 Q f.4l.9g 6Q63
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51) The square root of (4x%z* +12xyz? + 9y? ) is

A) 2xy + 3z
B) 2xz2+ 3y
C)xx+y
D) 2xz +y

51) (4x?z* +12xyz? + 9y? ) Q QEIC)R 6060

A) 2xy + 3z
B) 2xz?+ 3y
C)z+y
D) 2xz +y

52) Which of the following statements is TRUE?

A) 3v9 = 4420
B) 3vV9 < 4420
C) 3v9 > 4420
D) 3v9 =46

52) GRS F2IQ 60w 2BE O] 2166 ?

A) 3v9 = 4V20
B) 3v9 <4420
C) 3V9 > 4420
D) 3vV9 = 4V6

53) The largest number that divides 245 and 1029 by leaving
remainder 5 in both cases is

A) 29
B) 49
C) 16
D) 18

53) QU9 Q8N Q191 24549° 10299 FUIFS FEQ 9R° AEK 6TLER
5 WIGEHT Q6¢ | QLI @8l ?

A) 29
B) 49
C) 16
D) 18

54) PQ is a tangent at the point P on a circle with centre O.
If triangle OPQ is an isosceles triangle, then angle OQP is
equal to

A) 90°
B) 45°
C) 30°
D) 60°

54) PQ 6268 6e1 O 24l 92 aJ6a P 3gea @ adsas! | a8
8ge OPQ 6208 48 ANFQIg Gge, 6869 OQP 6qI8 RIgl A86
aFIe 629

A) 90°
B) 45°
C) 30°
D) 60°

55) If two sides of a triangle are equal then it is

A) an equilateral triangle
B) an isosceles triangle
C) aregular triangle
D) ascalene triangle

55) 9T 691N SR 9@ QI AIFF 21 6061 1L

A) 9@ AFQIE Gee
B) W@ Q¢ §aig Gae
C) 9@ arigd Gge
D) 9@ §Q991g 6

56) Ratio of 30 days and 36 hours is

A) 56
B) 1:20
C) 20:1
D) 6:5
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56) 30 G& 8 36 APIR AGUIG 629F

A) 56
B) 1:20
C) 20:1
D) 65

57) For any two sets A and B, (if ' denotes complement sef)
which of the following is FALSE?

A) A-B=A-(ANB)
B) A-B=A-B
C) A-B=(AUB)-B
D) A-B=ANB'

57) 6d 67144 9@F 62 A ¥e° B Qig, (9% ' ga@ 699 Q 95
Q6Q) 76912 FUQ 6RAE PR 263 ?

A) A-B=A-(ANB)
B) A-B=A-B'
C) A-B=(AUB)-B
D) A-B=ANB'

58) A shopkeeper buys a commodity for Rs 760. At what
price should he sell it in order to make a profit of 12.5%"7

A) 855
B) 860
C) 850
D) 900

58) @661 6QIQIR1 760 eFI6R F0acq Fdem | 12.5% QIa ARG
QIR CIF 666 G160 QIRIg 55 Ga9Ig 629 ?

A) 855
B) 860
C) 850
D) 900

WtsApp/Call- 8596976190

59) The selling price of a bag which costs 2200 sold with a
profit of 6% is

59) 2004 4@ QUICIg 6% NINER FFER YLIQ §F Ay Q60 629
i

A) Rs. 106
B) Rs. 206
C) Rs.112
D) Rs.212

60) For any two sets A and B, which of the following
equivalences is FALSE?

60) 641 64163 QG 63Q A ¥° B IR, 567118 6% AAGRIS! R
266 ?

A) ANB=B
B) Ac B

C) AUB=B
D)A-B=d
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Section 7 - Paperll-Social Science

61) Which of the following are the imaginary lines that run
between North and South poles?

A) Tropicals
B) Tropics
C) Longitudes
D) Latitudes

61) A81Q 671Q I9° QTG 671Q AUER T6IB 694 AFTR 64
Qe QIRelg ?

A) 91g aae
B) gl@
C)

)

D) a2ayrd

62) Which of the following terms describe the movement of
the Earth around the Sun in a fixed path or orbit?

A) Inclination
) Revolution
) Rotation

)

B
C
D) Gravitation

62) FARYe 674 905 9y CIRTEE Y@ dage |l RITLER
Jee1a 96 adel @t ?

63) The 73rd and 74th Amendment acts added which of the
following Parts to the Indian Constitution?

A) Part IXA-The Panchayats and Part XIVA- Tribunals

B) Part IX-The Panchayats and Part IXA-The
Municipalities

C) Part VIlI- The Union Territories and Part VI- The States
D) Part IX-The Municipalities and Part XV- Elections

63) 7369 8 7469 AEARIA TIRT AASIR AR 639 AITER
6diel @QULIREMI ?

A) Q19 IXA- °QI90 6 Qe XIVA- QUSRI
B) Qe IX- 2°01918 8 QUG IXA- 6d100IRR
C) QI VIII- 6259138 297 6 Qe VI- QIgy

)

D) ®Igl IX- 6dQaIR@ 3 QIgl XV- F3Ieq

64) The Constitution of which of the following countries is
regarded as the first written Constitution in the world?

) Germany

) United States of America
) Argentina

)

A
B
&
D) United Arab Emirates

64) FIAYG 696 6260 ARG TIQ A AYS AR RIS
2 Searg ?

A) @41

B) Q°Y% Q& AL
C) acadal

D) a°ge Ziee 1feasq

65) Kalidasa regarded as one of the greatest poet and
dramatist in India belonged to which of the following
dynasties?

A) Mughal dynasty

) Chola dynasty

) Gupta dynasty

) Chalukya dynasty

B
c
D
65) @I, I @ QIREE IR A215 @8 K2l QISYRa 26w , 64
76719 69Q 9°8 FIF 26m ?

A) 6RIGIR 9°8)

B) 6919 @°4

C) gg &4
)

D) @@y Q%6
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66) Who among the following is one of the Ali brothers' who
started the Khilafat Movement against the British
government?

A) Maksud Ali
B) Liaquat Ali
C) Salim Ali

D) Shaukat Al

66) 27 @I 8 F16Q G6gIR & §5E Q0w GQE6a YRITS
2ERAIRE 27 KRLEM ?

A) A9 aR
B) QaIag an
C) dfq &R
D) 6dleg 2q

67) Who among the following freedom fighters was a
prominent leader of the 'Moderates' faction of Indian
National Congress?

A) Aurobindo Ghosh

B) Gopal Krishna Gokhale
C) Bipin Chandra Pal

D) Bal Gangadhar Tilak

67) P67 7R @4 RIGSIE FISIR 6 A Pl A1 6NN
FES QARG 6001 Zem?

A) 2952 601

B) 69IKIR Q8 STIEM
C) Jde 99 am

D) QI daride Sow

68) Who wrote 'Ramayana’ an ancient Indian epic poem
which narrates the life of the divine prince Rama?

A) TulasiDas
B) Ved Vyas
C) Ramdas
D) Valmiki

WtsApp/Call- 8596976190

68) "QIFITE", 49 QINGIA AZRIQY , AI2! § A1 QIRQAIR
QAT F1TF ORC 4RI F68 - 1T @I ERYUSR ?

A) 9RQ1QIQ
B) 69¢ Qi@
C) Qa1 Q9
D) Qig@

69) Some of the states of India follow a bicameral system
wherein the legislature is divided into two separate houses.
The lower house is known as:

A) Council of States

B) Assembly House

C) Legislative Council
D) Legislative Assembly

69) AIRGA 6REER AIRY § - ATGT QA AGARS @RF - 690
U@ AR QA6 ARG J26Q TS 62PN | OF §2q QRIAN :

A) QIFY AT
B) QuIe Qelige
C) I 0tge
D) QuIe 4l

70) Who among the following is the Supreme Commander
of the Armed Forces in India?

A) President

B) Attorney General of India
C) Prime Minister

D) Defence Minister

70) R69I18 FIIQ @Y VISR 697 ATHQ I6RIP 6AGRIY 2GR ?

A) QEa

B) 9106Q 2641 6969QIR (AIIMIARIGT)
C) quie a1

D) g&eal a1
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71) Compressional waves are a type of seismic waves also
known as:

A) S wave

B) Rayleigh waves
C) Love waves

D) P wave

71) 4°6RN9Q AT , U@ IR @E‘ﬁ@‘ﬁ@ ", LIS 29N LI¢
608

A) 49 649
B) GINMERSER
C) Ae6aR)
D) d 64w

72) The cell formed by westerly wind along with subtropical
high and sub polar low pressure belt is known as:

A) Ferrel cell

B) Convection cell
C) Polar cell

D) Hadley cell

72) 08iFl QIg 9101 99 §IS1A GROId N AYSId 28R6a F2IR
620891 649 @ SIFl

A) T6am Q 699
B) @@60gq 64
C) 69IRIQ 69m
D) 91§ 64

73) Which of the folllowing types of farming is done on an
extensive scale for production of single crop only and is
also called bush farming?

A) Plantation farming
B) Contour farming

C) Terrace farming

D) Subsistence farming

73) GOAGYE 699 QI8 661G AR NITS QIR IR FAUAN @
49IQ 991 919 I GRIAN ?

A) 98 a9l @F
B) atead 98
C) 210996a §8
D) Gqie Q8

74) Which one of the following is NOT a Anthropogenic
cause of soil erosion?

A) Uncontrolled grazing

B) Erosion by water

C) Deforestation

D) Slash-and-burn agriculture

74) 36918 6293 FARIVOR AFIIGE ARG 6L ?

A) AFYEE 008 QF QULLIR
B) &% TIQI @

C) QoM QI<l

D) 64ig I8

75) The Royal Observatory, Greenwich is an astronomical
observatory established in 1675 in which of the following
countries?

A) England
B) Argentina
C) Mexico
D) Brazil

75) 5% AYIO 694 69960 QLR 2EIFEIR F1R &
QIR 6RUIBERINT OJY6QTE 605 AQES - Q19 & 1675 AdeEa
QTG saIRYM ?

A) a8
B) 216edql
C) 6ngea
D) SIFR
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Section 8 - Paperll-Science

76) Which of the following is an example of prop roots?

) Turnip

) Banyan tree
) Vanda

)

A
B
c
D) Sweet potato

76) G619 el 6966 89 799 QLS 26T 7

A) 639

B) Qa@la

C) @&l

D) ol iR / eew

77) Which of the following organelles are NOT found in the
plant cell?

) Chloroplast

) Vacuole

) Golgi apparatus
)

A
B
C
D) Centrioles

77) Q6@ 621961 G608 AUQ 60Q 2FAFTR @ & ?

A) 6qI6QIgIS

B) QQie

C) 60IRG 2KIRITY
)

D) 6&4e

78) A 5 kg body has an acceleration of 4 m/s?. What is the
net force acting on it?

N - WS
FZZZ

0
0
0
0

208e

78) @ 5 kg 990 Q0¥ 6208 4 m/s?. N2 QUEQ FUF Q@2
AN OF 6R6G ?

79) What is the chemical formula of plaster of paris?

) CaS0a4

) (CaSQa4)z2 .H20
) CaS04.2H:20
)

A
B
C
D) CaS0a4.H0

79) QIEQ 2T MITQ @ QAT IGT @4 26T ?

) CaS0s

) (CaS04)z2 .H20
) CaS04.2H:0
)

A
B
Cc
D) CaS04.H:0

80) What is hydrogen bonding?

A) strong interaction between a hydrogen atom and
another electronegative atom

B) strong interaction between a hydrogen atom and
another electropositive atom

C) weak interaction between a hydrogen atom and another
electropositive atom

D) weak interaction between a hydrogen atom and another
electronegative atom

80) 2IR6R16ER S8R (AQ VIR UGN §'€ A6T ?

A) 8Q PIF JaAK] 8 3g4Q AEIAR USFIE FIEA 98 ZREA
B) @Q §IF 9961 8 FG4Q- URIR TRCIIE FIER 9@ ASH
C) @9 FIe Ja91Ig 8 TR ~URINW A AU6Q 99 28T0
D) Q9 SIF 9o B 348 -QdIFR TRFIE FIER IR AT
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81) On mixing sodium sulphate solution with barium chloride
solution we get solution of sodium chloride and precipitate of
barium sulphate. This reaction is an example of

A) no displacement reaction

B) double displacement reaction
C) triple displacement reaction
D) single displacement reaction

81) 6Q0¢ 6919 QTS CAPLL ANETT Y8R FIgEQ a6
6QABAA 6NN IG° 69FAT| ANCTY A ZRICAAS §& AR 197
goRal 62660 IR QL8 ?

A) 248 aRIeas gogal
B) § 2191204 9ogl
C) @ RIses goaal
D) 999 9I713a¢ 9aqel

82) Dry ice means the solidified form of

A) carbon dioxide

B) calcium carbonate
C) hydrogen peroxide
D) carbon oxide

82) 4gfl QQF QIR 99 /0Q Q4 , QI 62ml

A) Q6] QIR AT

B) IR d2¢ K1691699

C) 2IR6RI68] 609 AFIRR
D) QIaq PR

83) Which of the following CORRECTLY define 'matter'?

A) Matter can be converted from one form to other causing
any loss to it

B) Weight of a matter remains constant throughout the
universe

C) Any thing that has weight and occupies space is a
matter

D) Matter can neither be created nor destroyed

WtsApp/Call- 8596976190

83) G6qI8 AR 6246 '9g'Q A0R ARl @6 2

A) @ 4921 98 61T AF @ C28IR 6615 QYR 2R Y@ ARG
J59Re 62104I6Q

B) IR 99 68% QeI 3969 Ta Q62

C) 64 69164 FAE QI2IQ BRI 2F ¥&° G121 YIR 2IL0E A6
Q121§ 9g QRIAN

D) 929 98 @ ¥° QKR 96e RIF

84) What is the Sl unit of mass?

A) second
B) meters
C) kilogram
D) kelvin

84) g% S| 99 94§?

A) 696@d
B) figQ
C) @snugie
D) 699/

85) A cyclist with mass 40 kg exerts a force of 400 N to move
his cycle. The acceleration is 6 ms™. The force of friction
between the road and tyres will be

A) 160 N
B) 640 N
C) 320N
D) 240N

85) 40 Qg B9 Q99 668 ARERR OIRR PIFR AREIN CRIGR

QIR 400 N 9F 626l 993 | 988 6265 6 ms™ | QI G SRR
F116Q QTR IR 6963 62 ?

A) 160 N
B) 640 N
C) 320N
D) 240 N
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86) There is a certain relationship between two given words
on one side of :: and one word is given on another side of ::
while another word is to be found from the given alternatives,
having the same relation with this word as the words of the
given pair bear. Choose the CORRECT alternative.

Liver cell: hepatocyte :: Kidney cell: ?

) Myocyte
) Osteoclast
) Nephron
) Neurons

A
B
C
D
86) @ 99 QISR , 998 9B e FIEA YR FEY QAR 9FF, 1.
1 QAR JIHER 99§ GIKINE ; 69U626R6R @ SUIIRCS
398Q 254 400Q 6HIE QITIR 6AGRIQ 629 , 6ARLER @ 64T I8
A NG QAL , 6UIGER FULIRNYR| IR YIFQ AAR U8 §GC S
2IQae | A0] § @l

A Q1 6RUIECT NG 1 9Xa 61

A) FIEQIS AT
B) 2683 QI
C) 6a6gIq

D) QieRIq 4

87) Who among the following scientists was the first to
introduce the Smallpox vaccine?

A) Louis Pasteur

)
) Edward Jenner
) Robert Koch
) Paul Ehrlich

B
C
D
87) QNGO STRIFRAIGE ClAIQ @4 9267 942 6RITA 1Rl QIRIR
QGgem ?

A) 8 A8
B) Y94l 6808
C) Q8% @Q
D) 9f 4e2mq

88) Untreated sewage discharged in water body leads to

A) pollution and increase in water-borne diseases

B) pollution and increase in air-bome diseases

C) pollution but does not result in water-borne diseases
D)

clean environment around the dwellings

WtsApp/Call- 8596976190

88) 24999190 9§ &7 agaasa fdal ial

A) d986 98 @TQI A2 FRAIES 6QI6 @& QQelNd
B) 998¢ Q8 @GaN, @3 QIgRIZe 6ald @Geld
C) 9984 98 @GN, g IRAIEe 6aI6l @8FaId
D) QAR facea 9acadq IeaIa |Gl

89) COD is a measurement of the oxygen required to oxidize
soluble and particulate organic matter in water. What does
COD stands for?

A) Cholesterol Oxygen Demand

) Concentrated Oxygen Demand
) Chlorine Oxygen Demand
) Chemical Oxygen Demand

=]
c
D
89) COD 6268 @760 fg6dIgia ARITaad 8 6ada agelq

Qde! AA9! JIQ AINE4R AAFINA AIF | 6869 COD 6a46 IR
ERSIAIRAN ?

A) 6ENETIN 2AFERR GG

B) @G6906560% AT6R7 Ga1IE
C) 69/08 2§6wq G718

D) 6QFRR 2F6aQ a9

90) What is actinomorphic symmetry in the flower?

A) flower can be divided into two similar halves by a single
vertical plane

B) flower can be divided into two equal radial halves in any
radial plane passing through the centre

C) flower cannot be divided into two equal radial halves in
any of the radial plane passing through the centre

D) flower can be divided into three equal radial halves by a
single vertical plane

90) gRER AIREAICFTR GOAIFY KT6R @9 QRIAN ?

A) g 6915 @ Y 6F FI91 AR §R UG FAULIRUIE

B) 6@€Q @@0d 624 gl I8 Y@ 9° I JRg 999
FAUAIRIER

C) 699 609 96a4 Q2RI AF 629!l T8l Iag g4 99 a9
@6 699 QI

D) gmq 6915 @ Ml OF IR AR 6F QY FAULIFAIE
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Answer Key
3. ol ©
32.C 62. B
3. A 63.B
34.D 64. B
35.D 65 C
36. C 66. D
37.D 67. B
38. B 68. D
39.B 69. D
40. D 70. A
41. D 71. D
42. C 72. A
43. B 73. A
44. B 74. B
45. B 75. A
46. C 76. B
47.C 7. D
48. A 78. D
49. A 79. B
50. A 80. A
51. B 81,B
52. B 82. A
33. C 83 48°
54. B 84. C
55. B 85. A
56.8@" 86) C
57.B 87.B
58. A 88. A
59.D 89.D
60. A 90. B
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